Chapter 4
UDP 221 AlZE &S



%

=
<

X

S K

- [+

OF

o 0]

0

TR

4

<

ol

=0)

5t

—

= UDP®Oi|

= A Chapter 4.1 — UDP=2+0[ S E

= WA Chapter 4.2 — UDP Al B

= WA Chapter 4.3 — UDPAZI= 0]l =

<

<

ol

310



A310|

= Socket

ls

S EAS et Z2E (endpoint)S A A ol 04
W0l CHer opendt SAlel STAIO & J| = A}
(descriptor)= BretstCh, A2 QOB === QIE Y &
BICI(TCP/IP), Novell2 |PX = listen2t accept &£
= Select= ==o(d 220G E= 2BE © = bind
?F connect= ==ctlf. “S5 A E0C] A= A
N HERD 2=E=2= LEIUA=E 220, O =
2 Mo A2 S22 2= 210, T2= 22 A0
K= 1024 0|8Fel TCP2F UDP X< E(port)E B
= O gFelS (binding)= =& Zef= JI 0k ol 2
= "2 fIAE 1024 EE= 1] 0|ALe] BFOIE S0

o LE WH (| felEs 2= Q= 10| E=0)

IN

(W



ZHHOUA HIERSE Sottd OHE ZFH=S &
= 0/=J ot == A= X2 S== 5t Ol& &%IL—I ”%% =26}
DI —rlonI 2712 Z JHAl HI0IE 2E5 E&ol0¢{0F otH, 0= 230| Ol !

= Jl= 24 2201 S0

sin_len I sin_family sin_port I sin_addr I sin_zero I

Local Socket Address

sin_len I sin_family sin_port I sin_addr sin_zero I

Remote Socket Address
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Family Protocol UEEZE M 29
AF_UNIX SUA JI=20H XA 23
AF_INET |PV4
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AF_NS XEI0oX

AF_ISO SO

AF_IPX Novell [PX
AF_APPLETALK Appletalk DOS




(2) Type
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Stream A3l
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UDP(User Datagram Protocol)
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UDPEchoClient.c

If ((sock = socket (PF_INET, SOCK_DGRAM,
IPPROTO._UDR)) < 0)

DieWithError(“socket() failed”);
= ofLte) Ol= GIOIE 1d= 23
memset(&echoServAddr, 0, sizeof(echoServAddr))s
echoservAddr.sin_tamily = AF_INET:;
echoServAddr.sin_addr.s_addr = inet_addr(serviP);
echoServAddr.sin_port = htons(echoServPort);



If (sendto(sock, echoString, echoStringlen, 0, (struct sockaddr *)
&echoSenvAddr, sizeof(echoServaddr)) = echoStringlen)

DieWithError (“sendto () sent a different number of bytes than
expected?);

0 HESE= %*P_ =

1. HIAIK &S

fromSize = sizeof(fromAddr);

If ((respStringlLen = recvirom(sock, echoBuffer, ECHOMAX, O,
(struct sockaddr *) &fromAddr, &fromSize)) |= echoStringlLen)
DiewithError(“recvirom() failed”);

2. Bl ALK £ ALK 2 A

If (echoSenvAddr.sin_addr.s_addr = fromAddr.sin_addr.s_addr)

{
fprintf(stdernr, “Error: received a packet from unknow.

source.Wn?);
exit (1);
I

o IS AE2) oM

echoBuffer_[rgspStrmgLen] = W0’
Printf (“Received: %sWn, echoBuffer);



UDPEchoServer.c

a2 0fi2to|
s A AHA Ol AN Cr=

1A O O = = o
echoServAddr.sin_addr.s_addr = ;
o Echoclient.c
echoServAdar.sin_adar.s_aaadr = i;
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for (5;)

{

cliAddrlLen = sizeof(echoCltAddr);

if ((recvMsgSize = recvirom(sock, echoBuffer,

ECHOMAX, 0, (struct sockaddr *) &echoClntAddr,
&cliAddrlLen)) < 0)

DieWithError(“recvirom() failed”);
printf(“*Handling client %sWhn”, inet_ntoalechoClntAddr.sin_addr));

if (sendto(sock, echoBuffer, recvMsgSize, 0, (struct sockaddr *)
&echoClntAddr, sizeof(echoClntAddr)) = recvMsgSize)

DieWithErron(“sendto() sent a different number of bytes than
expected”);
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